( 13349 KIA SEDONA (113.8") SHORT WHEEL BASE )

GROSS LOAD CAPACITY WHEN USED AS A WEIGHT CARRYING HITCH: 3500 LBS. TRAILER WEIGHT & 350 LBS. TONGUE WEIGHT.
***DO NOT EXCEED VEHICLE MANUFACTURER'S RECOMMENDED TOWING CAPACITY.***

PASSENGER SIDE FRAME RAIL
ENLARGE EXISTING

Parts List HOLE IN FRAME
TEM_|_QTY PART NUMBER DESCRIPTION
1 1 |1_2 FISHWIRE 1/2" FISHWIRE .\ (7)
2 4 |M12-1.25 x 30mm HEX BOLT =L .\ .
3 2 |M8-1.25x30 TAPBOLT |HEX HEAD TAP BOLT -‘V‘ 1
4 I CONICAL TOOTHED WASHER |\i),\ G)
5 1 |HFN 1213 HEX FLANGE NUT NI“? ﬂ
6 2 | WASHER N
7 1 [1/213x1 12 CARRIAGE BOLT o & DN
8 1 |cM-sP10 250 x 1.00 x 2.50' SQUARE HOLE SPACER B /[ﬂ
PN ) e {
% CURT 23N
nes 5 ‘l ~

DRIVER SIDE FRAME RAIL

")
X
</

=

N
O,
O,

EXHAUST
HANGER

~

REVERSE PULL
FISHWIRE TECHNIQUE

f TO FISHWIRE CENTER SLOT,

HITCH WEIGHT: 44 LBS. ATTACH FISHWIRE TO CARRIAGE BOLT AND

SLIDE SPACER ONTO FISHWIRE. THEN PUSH

INSTALL TIME: 30 MINUTES THE BOLT THRU THE HOLE FOLLOWED BY THE
, SPACER (AS SHOWN). PULL BOLT BACK INTO
INSTALL NOTES: POSITION, PROTRUDING FROM THE FRAME.

-LOWER EXHAUST

-ENLARGE EXISTING HOLE
-FISHWIRING REQUIRED

INSTALLATION STEPS I

1) Remove tow hook on driver side frame rail and return it to customer.

2) Lower exhaust bracket by removing two M8 bolts from frame rail on passenger side of vehicle.

3) Enlarge existing hole on passenger side frame rail with 1" hole saw. When enlarged, reverse fishwire a
1/2 - 13 x 1 1/2" carriage bolt and CM-SP10 spacer into enlarged hole as shown in illustrations above.

4) Raise hitch into postion. Finger tight 1/2" flange nut on carriage bolt and proceed to finger tight all M12 bolts
as shown in illustrations above.

5) Raise exhaust hanger back into position and finger tight to the sideplate with Curt supplied M8 bolts.

6) Torque 1/2" hardware to 110 ft.-Ib., M12 hardware to 86 ft.-Ib., and M8 hardware to 23 ft.-Ib.
PERIODICALLY CHECK THIS RECEIVER HITCH TO ENSURE THAT ALL FASTENERS
K ARE TIGHT AND THAT ALL STRUCTURAL COMPONENTS ARE SOUND. /



http://www.carid.com/curt/
http://www.carid.com/receiver-hitches.html

